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Science- 60 Marks

1) Which of the following bacterium is used to make curds from milk?
(a) Streptococcus (b) Lactobacillus (c) Staphylococcus (d) Clostridium

2) Which is the other organism that has been added in kingdom Monera in addition to bacteria?
(a) Virus (b) Blue-green algae (c) Fungi (d) Protozoa



3) Why is there growth of fungus on all the stale food?
(a) Fungus has affinity for food. (b) Fungus grows on decaying organic matter.
(c) As food is open, the fungus drops on it and starts growing. (d) None of the alternative is correct.

4) The potential difference between the two electrodes of the lead-acid cell isnearly ...................

@1Vv (b) 1.2V (c)15V (d)y2v
5) The Ni-Cd cell delivers a potential difference of .....................

@1Vv (b) 1.2V (c)15V d)y2v
6) Identify the odd term :

(a) World Diabetes Day - 14th November (b) World Heart Day - 29th September

(c) World Blood Donation Day - 14th June (d) World Health Day - 29th April
7) ldentify the odd term :

(a) Plague (b) AIDS (c) Cholera ()T.B
8) Identify the odd term : Non-infectious diseases

(a) Cancer (b) Diabetes (c) Heart disease (d) Rabies
9) The symbol A isused to denotethe ..........................

(a) atomic number  (b) atomic radius (c) atomic mass number  (d) atomic mass
10) The maximum capacity of the M shell is ....................... electrons.

(@2 (b) 8 (c) 18 (d) 32
11) The mass of the electron is ................ times less than that of a hydrogen atom.

(a) 1800 (b) 8100 (c) 1550 (d) 1600

12) The N shell is the valence shellin ......................
(@) fluorine (b) chlorine (c) bromine (d) helium

13) The maximum number of electrons that can be accommodated in the third orbitis.............................

(@3 (b) 8 (c) 32 (d) 18
14) Identify the odd term : isotopes of hydrogen.

(a) Hydrogen (b) Deuterium (c) Tritium (d) uranium
15) Isotopes of an element have the same number of..................

(a) neutrons (b) nucleons (c) electrons (d) atoms
16) The intermolecular force is ............ in the particles of solid.

(a) minimum (b) moderate (c) maximum (d) indefinite

17) Metalloids have propertiesof.....................

(a) metals (b) non-metals  (c) both metals and non-metals  (d) neither metals nor non-metals
18) ........ is a metal.
(a) Hg (b) S ()P (d) Br

19) Matter is classified into the types mixture, compound and element, by applying the criterion.....................
(a) states of matter (b) phases of matters  (c) chemical composition of matter  (d) all of these



20) Matter that contain two or more constituent substances is called.......................
(a) mixture (b) compound (c) element (d) metalloid

21) Water, mercury and bromine are similar to each other, because the threeare ............................
(@) liquids (b) compounds (c) nonmetals (d) elements

22) The electronic configuration of oxygenis.....................

(@25 (b) 2,6 (c)2,4 (d)2,8,6
23) Pure ............ is soft.

(a) aluminium (b) silver (c) gold (d) platinum
24) .o, is a metalloid.

(a) Aluminium (b) Antimony  (c) Zinc (d) Mercury
25) oo is a metal which is in liquid form at ordinary temperature.

(a) Gallium (b) Magnesium (c) Sodium (d) Scandium

26) When a liquid is poured from one container to another, its shape may change, but its volume..............
(a) increases (b) decreases  (c) remains the same  (d) none of them

27) The property by which some solids maintain their shape even when subjected to external forces is called.............

(a) elasticity (b) fluidity (c) rigidity (d) plasticity
28) i, Is a homogeneous mixture.
(a) Sand + water (b) Flour + water (c) Salt + water (d) Oil + water

29) Which fertilizers when used in excessive amounts cause soil pollution that spreads to neighbouring water  bodies and
cause water pollution too?

(a) Chemical (b) Organic (c) Artificial (d) Compost
30.What is the type of pollutants that are present in the industrial effluents that is released in the rivers and sea?
(a) Inorganic (b) Organic (c) Biological (d) Biomedical
31.What grows in excess when eutrophication of the water bodies take place?
(a) Plants (b) Algae (c) Fishes (d) Fungi
32.Which is the easiest method to identify the polluted water?
(a) To taste the water (b) To check the depth of water
(c) To observe colour and odour of the water (d) To swim in the water

33.Which of the following sentences is incorrect?
(a)Atmospheric pressure increases with altitude.
(b)Force and weight have the same units.
(c)The buoyant force due to a liquid is proportional to the acceleration due to gravity.
(d) Frictional force is electromagnetic in origin.

34. Photosynthesis in algae is carried out with the help of............
a) Chloroplasts b) Cilia c) Flagella d) Sporangiophores

35. Complete the correlation .
Eukaryotic : Protozoa : : Prokaryotic : ...............
a) Bacteria b) Algae ¢) Fungi d) Protista



36. e, are the organisms at the edge of living and non-living.
a) Protozoans b) Viruses c) Algae d) Bacteria

37. Viruses have long molecules of...................
a) Only DNA b) Only RNA c) Both DNA or RNA d) Either DNA or RNA

38. Asexual reproduction in bread mold occurs by................
a) Rhizoids b) Hypha c) Spores d) Sporangiophore

39. Which of the following is a major source of water pollution?
(a) Sulphur dioxide (b) Nitrogen oxide (c) DDT (d) Hydrogen oxide

40. The solid or liquid particles dispersed in the air are called........
(a) oxides (b) acids (c) hydrocarbons (d) aerosols

41. Green house gas is ...........
(a) nitrogen (b) methane (c) carbon dioxide d) both (b) and (c)

42. Chlorofluorocarbon is used in .................
(a) refrigerators (b) air conditioners (c) aerosol sprays (d) all of these

43. Which of the following vitamins helps in blood clotting?
(a) vitamin A (b) vitamin C (c) vitamin D (d) vitamin K

44. The Deficiency of vitamin E leads to ...............
(a) Soft Bones (b) Bleeding in gums (c) Weakness in muscles (d) Neurological disorders

45. Which of the following is not an infectious disease?

(a) Dengue (b) Scurvy (c) Typhoid Fever (d) Whooping cough
46. Amirrorhas ................... surface.

(a) rough (b) polished (c) dark (d) all of these
47. Beam of light striking the reflecting surface is called................

(a) incident ray (b) reflected ray (c) refracted ray (d) normal ray
48. The angle of incidence is always ................. to the angle of reflection.

(a) greater (b) smaller (c) equal (d) none of these

49. Which of the following results in diffused reflection?
(a) Plane mirror (b) Shiny surface (c) Silver (d) Wood

50. If two plane mirrors are inclined at an angle of 40°, number of images formed will be..............

@) 7 (b) 8 ©)9 (d) 5

51. Band of seven colors is called..................
(d) VIBGYOR (b) dispersion (c) spectrum (d) reflection

52. Atoy is placed at 10 cm in front of a plane mirror. What is the distance of image from the mirror?
(@) 20 cm (b) 40 cm (c) 10 cm (d) 30 cm

53. A candle is 30 cm high. What is the height of its image in a plane mirror?
(@) 10 cm (b) 15 cm (c) 30 cm (d)45cm



54. Sound travels through .....................
a) Water only b) Vacuum ¢) Liquid, gas & solid d) none of the above

55. Loudness of sound is measured in units of ..............
a) Decibel (dB) b) Hertz (Hz) c¢) Meter (m) d) Meter/second (m/s)

56. 1 hertzisequal to: ..........ccoovevviniininnis
a) 1 vibration per minute b) 10 vibrations per minute ¢) 60 vibrations per minute  d) 600 vibrations per minute

57. A simple pendulum makes 10 oscillation in 20 seconds. What is the time period and frequency of its oscillations?
a) 0.5 Hz and 2 s respectively b) 0.1 Hz and 0.5 s respectively
c) 0.2 Hz and 3 s respectively d) 0.3 Hz and 4 s respectively

58. Sound is a kind of.....................
(a) work (b) energy (c) force (d) pressure

59. Pitch of sound depends upon....................
(a) Frequency (b) Wavelength (c) Time-period (d) Amplitude

60. An object oscillates 50 times in one second. What is its frequency?
(a) 0.2 Hz (b) 0.02 Hz (c) 0.002 Hz (d) 50 Hz

Mathematics- 20 Marks

61.-2,-1,0,1,2theseno. are .........................

a) Rational Numbers b) Whole Numbers c) Integers d) Natural Numbers
62. Alternate anglesiis ............... then the lines are parallel.

a) Congruent b) Supplementary c¢) Complementary d) Different
63. Cube root 0f 32768 1S ...c.evivvinvinnnnnnn.

a) 32 b) 42 c) 38 d) 48
64. The orthocenter of an abuse angled triangle is in the............. of the triangle.

a) vertex b) interior C) exterior d) none of above

65. a*+ 3a?h + 3ab?+ b= ..............
a) (a+ b)? b) (a- b)? ¢) (a+b)* d) (a+b)*

66. Factories : 2x2-9x + 9
a) (2x +9)(x - 2) b) (x - 7)(x - 3) c) (x-3)(2x - 3) d) (y - 5)(y +3)

67. 120 bags of half liter milk can be filled by a machine within 3 minutes find the time to fill such 1800 bags ?
a) 30 minutes b) 45 minutes C) 48 minutes d) 37 minutes

68. x varies inversely as y, when x = 15 theny = 10, if x =20 theny = ?
a)y=25 b)y=7.5 c)y=5.7 d)y=5.2

69. If diagonal of a rectangle is 26 cm and one side is 24 cm, find the other side.
a) 10 cm b) 12 cm c) 14 cm d) 16 cm

70. If selling price = Rs. 900. Discount is 20 %, then find the market price.
a) Rs.1135 b) Rs.1152 c) Rs.1225 d) Rs.1125



71.1f 19° = 6859, find *V0.006859
a) 1.9 b)19 c) 0.019 d)0.19

72. Find quotient and reminder. 40a3y + (-10a).
a) -4a2, 0 b) -2a2, 1 c)daz 1 d) 2a% 0

73. Solve the following. 3x + 12 = 2x - 4.
a) x=-10 b) x=16 c) x=-14 d) x=-16

74. A principal amounts to Rs.13924 in 2 years by compound interest at 18 p.c.p.a.
Find the principal.

a) Rs.15,000 b) Rs. 1,000 ¢) Rs. 10,000 d) Rs. 12,000
75. Find the difference between simple interest and compound interest on Rs.20000
at8 p.c.p.a.
a) Rs.128 b) Rs.124 c) Rs.120 d) Rs.122
76. Area of ................. = base x height.
a) rectangle b) parallelogram c) trapezium d) rhombus

77. Semi perimeter is denoted by ..........

a) sp b) m C) se d)s
78. If the diameter of a circle is 24.6 then the radius is..........

a) 13.4 b) 12 c) 12.3 d) 12.6
79. 1 liter=........... Cc

a) 1000 b) 100 c) 1100 d) 980

80. Vertices of hexagonal prism are ...........
a) 12 b) 8 c) 16 d) 10

General Knowledge- 20Marks

81. What is the launch date for Chandrayaan 3 mission?

A) 24 July 2023 B) 14 July 2023 C) 13 July 2023 D) 04 July 2023
82. The Chandrayaan 3 mission’s rover is known as

A) Vikram B) Bheem C) Pragyaan D) Dhruv
83. The mission life of the Lander and Rover equal to

A) 14 Earth Days B) 24 Earth Days C) 16 Earth Days D) 12 Earth Days
84. Which launcher is used for Chandrayaan-3?

A) GSLV B) LVSM C) GSLV-Mk3 D) PSLV
85. The mission objectives of Chandrayaan-3

A) To demonstrate Rover roving on the moon and B) To demonstrate a Safe and Soft Landing on Lunar Surface



C) To conduct in-situ scientific experiments. D) All of the above
86. How much did the Chandrayaan 3 mission cost?

A) 1200 Crores B) 960 Crores C) 600 Crores D) 540 Crores
87. What is the total weight of Chandrayaan 3?

A) 4,100 kilograms B) 3,900 kilograms C) 2,190 kilograms D) 5,200 kilograms
88. What is that one thing in Chandrayaan 3 and not in Chandrayaan 2?

A) Laser Doppler Velocimeter (LDV) B) Laser-based Interferometry

C) Ultrasonic Doppler methods D) Molecular Tagging Velocimetry
89. Which of the following is missing in Chandrayaan 3?

A) Rover B) Lander C) Orbiter D) None of the above
90. Who is the director of the Chandrayaan 3 mission?

A) Veeramuthuvel B) M Vanitha C) Ritu Karidhal D) K. Sivan
91. Where will Chandrayaan 3 land on the moon?

A) Near the South Pole B) Near the North Pole C) In the equatorial region D) None of the above
92. What is the landing schedule for Chandrayaan 3?

A) August 29, 2023 B) August 25, 2023 C) August 23, 2023 D) August 24, 2023
93. How did Chandrayaan-2 welcomed Chandrayaan-3?

A) Hello Buddy! B) Hi Buddy! C) Welcome Buddy! D) Hey Buddy
94. Who is the Rocket Woman Behind Chandrayaan 3 Mission?

A) Moumita Datta B) Ritu Karidhal C) Nandini Harinath D) Tessy Thomas
95. What name is given to the Chandrayaan 3 landing spot?

A) Shiva-Shakti Point B) Shiva-Parvati Point C) Shiva-Shambhu Point D) Shiva-Bhakti Point
96. Which chemical element is found on Chandrayaan 3?

A) Titanium B) Sulphur C) Magnesium D) Chlorine
97. What is the launch date for the Aditya L1 Mission?

A) 14 August, 2023 B) 23 August, 2023 C) 2 Sept, 2023 D) 22 Sept, 2023
98. Who is launching the Aditya L1 Mission?

A) ROSCOSMOS B) NASA C) ISRO D) European Space Agency



99. How long the spacecraft will travel under the Aditya L1 mission?
A) 3.5 million kilometres B) 4.5 million kilometres ~ C) 2.1 million kilometres D) 1.5 million kilometres
100. Aditya L1 mission will observe:

A) Photosphere B) Chromosphere C) Outermost layers of the Sun D) All of the above
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